Lesson 9

KNOW

1) middle voice has subject acting upon/for itself

2) present middle ind. Is identical to present passive ind.

3) When you see these identical forms, they will 90%+ of the time be passive

4) Aorist middle is based off of 3rd p.p. so remember recognition points of: augment, sigma, and alpha connecting vowel.

5) 2nd aorist endings look about identical; but you have stem change from the 1st p.p. and the connecting vowel has changed.

6) Definitely the personal pronouns and their uses (below)

 - attributive – translate “same”

· predicate – translate “—self…himself, herself, itself…”

the above two examples will agree in gender, number, and case

· substantive – 3rd personal pronoun “he, she, it”

· if it’s genitive, translate w/ of, 

vocab

